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« 8.1 EERtype()RREUREIZEHIRTSREE,

i=1

print (type (i))

s ="abc"

print (type (s))
l=1[1,2,3]

print (type (1))
t=('a', 'b', 1, 2)
print (type (t))

d= {'a': 1, 'b': 2}
print (type (d))

<class 'int'>
<class 'str'>
<class 'list'>
<class 'tuple'>
<class 'dict'™>
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class UniversityStudent.:
pass
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class UniversityStudent:

pass
studentl = UniversityStudent ()
student2 = UniversityStudent ()
print (type (studentl))
print (id (studentl))
print (type (student2))
print (id (student2))

<class' main__.UniversityStudent'>
1901064138936
<class' main__ .UniversityStudent'>
1901064999208
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class UniversityStudent:
def init (self,id,name,sex):

self.id = id

self.name = name

self.sex = sex
studentl = UniversityStudent("01","5k=","5Hm)
student2 = UniversityStudent ("02","Z=&", "4")
print("%‘%‘: "+studentl.id+" #44: "+studentl.name+" HH|: "+studentl.sex)
print ("#%5: "+student2.id+" #44: "+student2.name+" HHI: "+student2.sex)
studentl.id="03"
print ("#%5: "+studentl.id+" #44: "+studentl.name+" #Hl: "+studentl.sex)
student2.age=20
print ("% 5 : "+student2.id+" M 4 : "+student2.name+" £
"+str (student2.age))
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unl

class UniversityStudent:
def init (self,id,name, sex):
self. id = id
self .name = name
self.sex = sex
studentl = UniversityStudent("01",6"3K=",6"5H")

print("%?%n "+studentl.id)

AttributeError: 'UniversityStudent' object has no attribute 'id'

B | MLESIIMIERDRIXLEN | BPARILULE
E | EESH— AR, HASERAERa,




== M
1
.« {f18.6 {EEIKFSEZEUniversityStudent , iFwil—
MEcount , FIsRGit—3L6l5E 7 2/ D sofl.

unl

class UniversityStudent:
count = 0
def init (self, name):
self.name = name
UniversityStudent.count += 1
studentl = UniversityStudent ("EF")
print ("F4AZ: ",studentl.count)
student2 = UniversityStudent ( RN )
print ("F4AH: ",student2.count)

print ( "SRR v, UniversityStudent. count)
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